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10-33. See below:
a.1.58,2.50.2.91, 3.49, 4.29

b. See solution graph below.
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c. The median (center) is at 2.91 points. The shape is symmetric. The IQR (spread) is O3 — Q1 =3.49 —2.50 =0.99 points. There are no
apparent outliers.
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10-34. See below:

a. See diagram below.
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b. P(Senior given OceanView) = %: 25%

10-35. Let # = number of hats and let 7 = number of T-shirts; 54 + 8¢ < 475.

10-36. In both cases, the account that pays 2% interest is better.
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10-37. See below:

a. 207

b.—m3n?
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d. 4x10°6

10-38. See below:
a.P=40.32 mm, A =72 sqmm
b. P =30 feet, A = 36 square feet
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